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QUESTION 1

Your customer is concerned about not having access to schedule orders and check availability when the Global Order
Promising server is down. Which two statements are true? (Choose two.) 

A. Affected orders can be rescheduled based on supply chain availability search after server recovery. 

B. Global Order Promising continues promising orders based on supply chain availability search until the server or
backup server can be restarted. 

C. Global Order Promising cannot continue promising orders, but the server or backup server is usually restarted
quickly. 

D. Affected orders cannot be rescheduled based on supply chain availability search after server recovery. 

E. Global Order Promising continues promising orders based on lead-time availability until the server or backup server
can be restarted. 

Correct Answer: AB 

 

 

QUESTION 2

Which four options apply to the "Lead Time" mode? (Choose four.) 

A. Lead time can be specified in multiple ways. 

B. The item is promised on the requested date irrespective of availability. 

C. Calendars and transit time constraints are respected. 

D. No supply availability search is performed. 

E. The order promising engine does not generate any pegging. 

Correct Answer: ACDE 

 

 

QUESTION 3

You want to perform Internal Material Transfer across Business Units and want to capture internal margin as part of
revenue for the selling Business Unit. 

Which mandatory task would you perform for this requirement? 

A. Configure Oracle Fusion Global Order Promising 

B. Manage Consumption Rules 
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C. Manage Supply Execution Documentation Creation Rules 

D. Manage Supply Chain Financial Orchestration Transfer Pricing Rules 

E. Manage Supply Order Defaulting and Enrichment Rules 

Correct Answer: D 

Sourcing tools enable you to manually create internal material transfer requisition lines in Self Service Procurement and
create supply requests from the Manage Item Quantity page. These sourcing tools provide a default source organization
and allow access to source organization rankings and available to promise quantities. Oracle Fusion Supply Chain
Orchestration works with Oracle Fusion Global Order Promising and Oracle Fusion Inventory Management to identify
the source organization rankings based on pre-established rules. 

 

QUESTION 4

The customer service representative in your company has received a request from a customer for appending additional
quantity to an original sales order that has already been released to the warehouse. The sales order quantity revision
has resulted in a new shipment line with the statue "Ready to Release." 

What action would you take to ship the new line by merging it with the original shipment? 

A. Run the process Create Shipments with the parameter Append Shipment set to Yes. 

B. Perform Pick Release by selecting the Append Shipment check box. 

C. Manually append the new line to the shipment. 

D. Run the process Create Shipments with the parameter Create Shipment set to Yes. 

Correct Answer: C 

 

QUESTION 5

Which two statements describe Net Change Collection? (Choose two.) 

A. Data for the selected entities is replaced in the planning data repository. 

B. It completely refreshes the planning data repository. 

C. Data for the selected entities is deleted from the planning data repository. 

D. It collects only changed data to the planning data repository. 

E. It collects data only incrementally to the planning data repository. 

Correct Answer: BE 
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